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Sumar y restar decenasy centenas Nombre:
Resuelve cada problema.
350+ 10 = 682-10= 713+ 100 = 219-100 =
378+ 10= 107-10=_ 840 + 100 = 613 - 100 =
550 + 10 = 523-10= 338 + 100 = 827 - 100 =
466 + 10 = 502-10= 270+ 100 = 888 - 100 =
581+ 10= 731-10= 334+ 100 = 507 - 100 =
758 + 10 = 68-10=_ 98 + 100 = 105-100=_
892+ 10 = 963 - 10 = 132 + 100 = 769 - 100 =
812+ 10= 113-10= 798 + 100 = 376 - 100 =
262+ 10 = 857-10= 437 +100 = 152-100=
751+ 10= 249-10= 822 + 100 = 253-100=
247 +10= 50-10=_ 99 + 100 = 968 - 100 =
699 + 10 = 537-10= 489 + 100 = 916 - 100 =
54+ 10 = 455-10= 207 + 100 = 151-100=_
456 + 10 = 664 - 10 = 120 + 100 = 937-100=
817+ 10= 420-10= 95+ 100 = 619 - 100 =
301+ 10= 982-10= 782+ 100 = 260 - 100 =
510+ 10 = 212-10= 561 + 100 = 216 - 100 =
931+ 10= 986 - 10 = 365 + 100 = 413 - 100 =
632+ 10 = 851-10= 499 + 100 = 242 - 100 =
426 +10= 37-10=_ 575 + 100 = 416 - 100 =
335+10= 627-10= 653 + 100 = 303- 100 =
213+10= 491-10= 488 + 100 = 174-100=
224+ 10 = 636 - 10 = 234+ 100 = 258 - 100 =
946 + 10 = 571-10= 32+100= 281-100=
469 + 10 = 202-10= 205+ 100 = 393 - 100 =
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Sumar y restar decenasy centenas

Nombre: Clave De Respuestas

Resuelve cada problema.

350+10=_ 360 682-10=_ 672 713+ 100=_ 813 219-100=_ 119
378+10=_ 388 107-10=__ 97 840+ 100=_ 940 613-100=_ 513
550+ 10=_ 560 523-10=_ 513 338+100=_ 438 827-100=_ 727
466 +10=_ 476 502-10=_ 492 270+ 100=_ 370 888-100=_ 788
581+10= 591 731-10=_ 721 334+100=_ 434 507-100= 407
758+10=_ 768 68-10=_ 58 98+100=_ 198 105-100=_ 5
892+10= 902 963-10=_ 953 132+100= 232 769-100=_ 669
812+10= 822 113-10=_ 103 798+ 100=_ 898 376-100=_ 276
262+10= 272 857-10=_ 847 437 +100=_ 537 152-100=_ 52
751+10= 761 249-10=_ 239 822+100=_ 922 253-100= 153
247+10=_ 257 50-10=_ 40 99+100=_ 199 968-100= 868
699+10=_ 709 537-10=_ 527 489 +100=_ 589 916-100= 816
54+10=_ 64 455-10= 445 207 +100=_ 307 151-100= 51
456 +10=_ 466 664-10=_ 654 120+ 100=_ 220 937-100= 837
817+10=_ 827 420-10=_ 410 95+100=_ 195 619-100=_ 519
301+10= 311 982-10=_ 972 782+ 100=_ 882 260-100=_ 160
510+ 10=_ 520 212-10=_ 202 561+100=_ 661 216-100=_ 116
931+10=_ 941 986-10=_ 976 365+ 100=_ 465 413-100=_ 313
632+10= 642 851-10=_ 841 499 +100=_ 599 242-100=_ 142
426+ 10= 436 37-10=_ 27 575+100=_ 675 416-100=_ 316
335+10= 345 627-10=_ 617 653+ 100=_ 753 303-100=_ 203
213+10=_ 223 491-10= 481 488 +100=_ 588 174-100=_ 74
224+10=_ 234 636-10=_ 626 234+100=_ 334 258-100=_ 158
946+ 10= 956 571-10=_ 561 32+100=_ 132 281-100=_ 181
469+ 10=_ 479 292-10=_ 282 205+ 100=_ 305 393-100=_ 293
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